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1. ey faum aReReR Tedttr HaereEr fhd wee e e s 2.

(1) 31 (TH) 2) 21 (THIH)

(8) 07 (%9 |), 4) 12 (/)

How many members are elected from the Graduates Constituency to Maharashtra Vidhan

Parishad ?

(1) 31 (Thirty One) (2) 21 (Twenty One)

(3) 07 (Only Seven) . 4) 12(T welve)
9 5sin31°  2tan81° _ )

cos 59° cot9° T

1) 7 2) 3 @ o0 (4) None of these
3.  If 33— 427 is divided by 11 then the remainder is :

1) 1 @ -1 3 0 4) 2 ’
4. YRAT TG KOS TG 68 T YRA™ |EEE F.

1) e faea (2 e fafere

() i€ THA () e femfaem

was the Viceroy of India at the time of establishment of Indian National

Congress.

(1) Lord Lytton (2) Lord Willingdon

(3) Lord Dufferin (4) Lord Linlithgo
5. A car is travelling at 50 m/sec along a road inclined at 30° to the horizont;zll. In how

many seconds, the vertical height of the position of car increase by 50 m ?

1) 1 @) 2 G) 3 4) 4
P.T.O.
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6. A solid sphere of metal with diameter 60 cm was melted and was recast into circular
coins of diameter 3 cm. and thickness 2 mm. Find the number of coins cast :
(1) 70,000 (2) 75,000 (3) 80,000 (4) None of these
7. USSR T &Rl STt fahdl Quiens 318 2
1 4 : 2 5 3 6 4 7
How many countries in the World have capability of FBTR technology ?
1) 4 2 5 3) 6 @) 7
8. The angles of elevation of the top of a tower at two points which are at a distances
a and b from the foot in the same horizontal line and on the same side of the tower are
complementary. The height of the tower is __. ?
(1) ab @ % ®) % @) Jab
9. In A ABC, seg PQ is such that A—-P—-B and A-Q-C. A ABC ~ A APQ, ZA=90". If
AP=6, PB=4 and QC=5 then A (OPQCB)= . ?
(1) 425 sq. units (2) 57.5 sq. units
(3) 40 sg. units (4) None of these
10. S TES Tarea St 9 yean S faw TRrssrE A st Fe.
(1) 8 Tgadl, 1984 (2) 1 SHEd, 2000
(3) 5 M, 1986 (4) 2 ISR, 1990

The Vasantrao Naik Vimukt Jati and Nomadic Tribes Development Corporation was
established on

(1) 8th February, 1984 (2) 1%t January, 2000
(3) 5% June, 1986 (4) 274 October, 1990

LY

ool SRIVHETE! SI”T / SPACE FOR ROUGH WORK
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11.  foere aomoh & women = fem Foarme! arar.

(1) T=H (2) TAERE (3) we (4) federtes

Widal test is used to diagnose which disease ?

(1) AIDS (2) Typhoid (3) Malaria (4) Hepatitis
12, WA Helid S T ST@o SEnT shiowd 2

(1) IS IR ) fedez=m

(3) WrER TEm , (4) wifed 7 doAH

Which is the fastest growing industry in India ?

(1) Textile Industry (2) Cement Industry‘

(8) Sugar Industry (4) Information and Technology
13. STfeare deea o wieror deen Y IR

M ™ (2) TR (3) TR (4) e

Tribal Research and Training Institute is located at v

(1) Pune (2) Nagpur (3) Parbhani (4) Nashik
14.

From the above pie diagram the percentage of Industry is :
(1) 30 2) 29 (3 31 (4) 28

P.T.O.

HEAT HIETETS WM / SPACE FOR ROUGH WORK
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What is the area of the shaded portion ? The quadrants shown in the figure are each of

22
radius 7 cm. (’rr= 7)

A

B%____%b

N |V
C

(1) 42 cm? (2) 21 cm? (3) 7w cm? (4) 28w cm?
16. foo=n doaifys dem=a Sy T & IMIEIT Hel g1 & qResER

Tehedre HIH LTI I B, -

(1) St : () driETg
@) @ @) SWWRW
In the State of Rural Engineering Institutes were given work of small irrigation

projects during the period of Third Five Year Plan.
(1) Orissa ' (2) Tamil Nadu
(3) Kerala ' (4) Uttar Pradesh

17.

TSI STl Il ?
(1) 42/44  (2). 43/44 (3) 73/74  (4) TRt VGG AR

Which of the following Constitutional Amendment Act lays down the foundation of
women-empowerment in the Panchayat Raj System ?

(1) 42/44 (2) 43/44 . (3) 73/74  (4) None of the above

18.

The average of n numbers x;, xo, x5 -, x, is A. If each number is multiplied by 7, then
average of these numbers after multiplication by 7 is :

1) 7A @ 7 @) A+7 (4) none of these

£

o1 ShIWMEIST ST /- SPACE FOR ROUGH WORK
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19.

9
Tieferieh! IR Y29 QR dre@fTs @it T ?
(1) (2
(B) wieliEm (4) -FER HEN
Which is not a iron-ore mining area of Orissa ?
(1) Mayurbhanj (2) Bonai
(3) Keonjhar | (4) Baba-Budan Hills

20.

“yTeftoT SehT TR HeT SEA SN S FH SN FS foel sweta '’ owlt At Fe
(1) 1885-1905  (2) 1905-1919  (3) 1919-1929  (4) 1929 - 1940

“That the rural banks may be setup to offer loans to the agriculturists at a low rate of

interest’” was the demand of the leaders of the Indian National Congress and was passed
by the resolution during the period between :

(1) 1885-1905  (2) 1905-1919  (3) 1919-1929  (4) 1929 - 1940

21.

The solution set of a quadratic equation 4x2—4x—15=0 is :

o F-3 e B e - e B

22,

The number of times a particular item occurs in a class interval is called its :
(1) mean (2) cumulative frequency

(3) frequency (4) none of these

23.

ARATNS P &1 HH ORI SR 2TEesd ?

(1) EeEE (2) GmEE

(@) Taem , 4) It

In India, which field notices less computerisation ?
(1) Communication (2) Research
(3) Education (4) Agriculture

P.T.O.

HT HIMES! 9T / SPACE FOR ROUGH WORK




10 ANT

24. In A ABC, seg AD | side BCand B—D-C. If £B=45°, ZC=30° and AC=10 then
AB= ?
M 5 2 4 3 443 4) 542
25. The shaded region in the Venn Diagram given below, represents :
X
1 A 2y B 3 A-B 4) B-A
26. Y foorw fae@ &g 71 foegma SR,
1) s (2) ST @) TS 4) 3imER
Paras Thermal Power Station is located in District.
(1) Bid (2) Akola (3) Raigad (4) Aurangabad
27. Solve the following two simultaneous equations for x and y

5x+2y=7 and 6x—~5y=38 :

1 x=3,y=-4 2 x=-3,y=-4

B) x=-3,y=4 4) =x=3,y=4

28.

The monthly salary of a person is Rs. 14,400 and the monthly expenditure on education is
Rs. 4,000. In the Pie-diagram the sector of the circle representing education should have
a central angle of degrees.

1) 90 (2 100 ©@3) 110 4) 120

£

ST WA WRT / SPACE FOR ROUGH WORK
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29, TV YA T FIMER SEEEH 9 ?
(1) SR SSsesre SARaa
(2) < TSHvEET T |
(3) SRR (F)
(4) TEEnHE sfed den

Which factor is not affecting the speed of operations within the computers ?

(1) Clock frequency of computer
(2) Rate of data transfer

(3) User

(

4) Number of bits in data bus

30. In A ABC, BD is a bisector of ZABC. A—-D-C. éeg ED|| side BC. A—E—B. If AE=5,

EB=10 then BC= ?
1y 15 2y 25 3y 30 4) 20
31. The total surface area of closed hemisphere with radius 8 cm. (Given w=3.14) is ?

(1) 107062 cm?  (2) 1071.78 cm?  (3) 1074.69 cm?  (4) 602.88 cm?

32. WERE fhdl HerROTereRT ST ?
(1 24 (2) 22 3y 35 4) 18
How many Municipal Corporations are there in Maharashtra ?

1) 24 ) 22 @) 35 4) 18

33. On amap drawn to a scale of 1: 20,000, a rectangular plot of land ABCD has AB=24 cm,
BC=32 cm. Then the diagonal distance of the plot (in km) is

1) 4 @ 6 @) 8 4) 20
P.T.O.

oAl HEMEIE W / SPACE FOR ROUGH WORK
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34. femmera vdam Gieiciish! HIVd TSH M STea ?

(1) wWa @=% (2) fe @s®

(3) e WEH (4) a1 Yt IR T

In Himalaya which of the following rock is mainly found :

"(1) Sedimentary Rock (2) Igneous Rock

(3)  Plutonic Rock (4) None of these
35. HUR g1 fRdt SR 2

(1) o Q) = (3) RS (4) WRFH

How much intelligence a computer has ?

(1) infinity (2) zero (3) wvery high (4) very low
36. cosec? 55°~tan? 35°= ?

1 -1 2 1 3 o (4) None of these
37. ‘it <fem hewE offF wragwIR a4’ YT ' HEied §HN WU SlieEet S e

71 IR=TERT T el g
(1) HRATAT ST 81 | .
(2) TRoft AT @i=A1 RIS GO YOS TeITie SHvardat
(3) ATISH HITUAHIS! KT Y T ATHIST
(4) TSI, ToRiod: AR YT SAfedreten ATl S5e SSgd ST

‘All India Federation of Constructive Workers” known as ‘Sarvodaya Samaj’ was organised
with the object of

(1) The Independence of India

(2) The Satyagraha against exploitation of workers by the Mill owners

(3) To start the Strike of the Mill Workers for their demands
(

4) A non violent transformation of the society, especially in rural areas

€y

e SHTATHTS! SR / SPACE FOR ROUGH WORK
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38.

- Side of an équilateral triangle is 6 cm. What is the side of an equilateral triangle whose

area is thrice the area of first ?

(1) 18 cm (2) 2cm (3) 643 cm (4) None of these

39. The relation between mean, median and mode for any data is :
(1) r_nodé = median — 2 mean
(2) mode = 2 median — mean : .
(3). mode = 2 median — 3 mean
(4) mode = 3 median — 2 mean
40. From the top of a tower, a guard saw a prisoner on the ground at an angle of depression
of 60°. If the prisoner is 80 m away from the foot of the tower, the distance between the
guard and the prisoner is :
(1) 60 m (2) 80 m (3) 160 m (4) 40m
41. When any number x is divided by 5, then the remainder is 3. What is the remainder when
three times that number 3x is divided by 5 ?
(1 1 2y 2 3 3 ‘ 4) 4
42. T 2001 HEY RAW AT O B
(1) 933 (2 927 (3) 930 4) 922
In 2001, Sex Ratio of India was
(1) 933 (2) 927 (3) 930 4) 922
43. In A PQR, £ZPQR=120° PQ=12 cm. The altitude on side 'QR = ?
(1) 8/3cm (2) 63 cm (3) 6cm (4) None of these

P.T.O.

T SHIATATS! SR / SPACE FOR ROUGH WORK
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TR SRTHAY, 3 T TEYRA BN THAH FH PGS 1 hel TIies ?

(1) S T e vr 1 S e fes
(2) <RI STATE TR 9 WaTH! SUATd 1A
() Wt F SWE

(4) TN GArhiEl oF HREIUITHE TR ¥

Problems of damage to forests from encroachment fire and grazing should be tackled
with which of the following aspects :

(1) One third of land should be under forest

(2) Rights and concessions be available to people

(3) Establishment of demonstration centres
(4) Involvement of local community in forest Protection

45. A ABC~ A LMN, A (A ABC) = 144 cm2, A (A LMN) = 100 cm2. If MN =10 cm then
BC= ?
(1) 144 cm (2 4 cm (3) 144 cm - 4 12cm

46. The weights of 20 students is given below. Find the mode of these weights :
52, 60, 70, 55, 48, 47, 55, 45, 55, 50, 51, 55, 50, 62, 68, 63, 44, 46, 42, 49.
(1) 50 (2) 52 (3) 55 4) 51

47. A salesman gets commission at 3% on sales upto Rs. 1,000 ; at 5% on sales from Rs. 1,000
upto Rs. 5,000 and at 10% on sales above Rs. 5,000. If he gets total commission of Rs. 350,
find his sales :
(1) Rs. 7,500 (2) Rs. 7,000 (3) Rs. 6,500 (4) Rs. 6,700

48. If 5% —5(x~1) =100, then value of x* is :

1 3 @ 8 @) 27 @) =

)

A

oAl HIHTHE! ST / SPACE FOR ROUGH WORK
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49. T ST HIST YIHIHT AAV IV TR TR A IqFRT 3L 2
(1) TR HFR (2) 9=
(3) TAHH HGR (4) THEIA
Which type of computers are more useful in medium and large administrative system ?
(1) Personal computers (2) Laptops
(3) Mainframe computers (4) Workstations
50. Wi o 32 T T Heged HTwor’ &id 2
(1) 3= Aafsn (2) I5gH
(3) #fdn fae @) Tl wd
Which of the following discussion groups on internet allow ‘live communication” ?
(1) Instant messaging (2) News groups
(3) Mailing list (4) All the above
51. YRAE SEA=Al 341 A1 HAHER v fafe S sygfea st aafae soamn sifar
SR BT TR ?
(1) Yaye™ (2) THEN FHEM HATE
@) wmufg (4) = AERHE
According to Article 341 of Constitution the power to include the particular tribe in ST
Category is empowered with whom of the following ?
(1) Prime Minister (2) Ministry of Social Welfare
(3) President of India (4) High Court
52. A
N
P
INU
}
B = v —

In figure, in A ABC m LABC=90°, if inscribed circle of triangle touches sides of triangle in
points L, M, N, then the value of AB+BC—-AC = .

1y 3r (2) 4r (3) 2r 4 r

P.T.O.
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53. 1850 W& ‘frsyi’ e WOt wife T go F
(1) 1S HESH (2) STRTA! STHHT
(3) foge it o (4) few gt ‘
Monthly Marathi Magazine ‘Digdarshan’ was started in 1850 by
(1) Bhau Mahajan (2) Balshastri Jambhekar
(3) Vitthal Ramji Shinde (4) Jotirao Phule

54. At what percentage above the cost price must article be marked so as to gain 26% after

allowing a customer a discount of 10% ? -
1 32 (2) 42 (3) 36 4) 40 he
55. The income of a broker remains unchanged though rate of commission is increased from
8% to 12%. The percentage reduction on his business is :
(1) 3333 (2) 40 (3) 66.67 (4) 16.66
56. WRAIG 99 weYA GREg 9 freror Hen (ICFRE) = Y@ his 3R ?
1) e e 2) «ETS (3) <=UH 4) R
The Headquarter of Indian Council of Forestry Research and Education (ICFRE) is located
at .
(1) New Delhi (2) Lucknow (3) Dehradun (4) Chandrapur
57. H.CF. of the polynomials x4—1, x2+2x—~3, x¥>—1 is : c
1 x-1 2y =x+1
(B) (x+1) (x—-1) 4) (x—1) (2+x+1)

58. ¥-ShTHYY RV Toee HE ggufirEn ST wta ?

1) ¥TwEdA 2 TIAW

(3) o0 I (4) TR THE TR
Which electronic payment technology is used in e-banking :
(1) EFT (2) ATM

(3) Both the above (4) None of the above

HoAT SIS R / SPACE FOR ROUGH WORK
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URATE STaTeR- ﬂ%mzomq@mmaﬁvwéﬁmﬁﬁﬁr&wﬁﬁﬁ%mﬁ@mmﬁ
Iz feeft St ?

(1) s (2). s (3) den ¥ - (@) iR

Which of the following country’s cricket team visited India to play the Crlcket Matches in
the months of October-November 2007 ?

(1) England (2) New Zealand (3) Bangladesh  (4) Pakistan

60.

A roller of dlameter 0. 9 m and length 1.8 m. is used to press the ground. The area of
ground pressed by it is 500 revolution is . (take w=3.14)

(1) 25434 m. (2) 2543.4 m?2 (3) 2643.4 m? (4) None of these

61.

g S e e © o
(1) o gle () shfeew

@) SaEm (@) oz sl

The Founder of Theosophical Society in India was

(1) Annie Besant (2) B.G. Tilak
(3) A.O. Hume (4) Umeshchandra Bérmerjee

62.

anfeare dieh STEIER SHor w1 Haleam.
(1) Hqaa () wfaas () TS (4) gGHR
In Tribal society, the medicine man is called as

(1) Mukhiya (2) Kaviraj (3) Baliraj (4) Subhedar

63.

In doing a division of a question -with zero remainder, a candidate took 15 as divisor
instead of 51. The quotient obtained by him was 34. The correct quotient is :

1) 15 2) 10 - 3) 17 @) 12
PT.O. .

oA SHIUTATS! S/ SPACE FOR ROUGH WORK
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anfeard=n == ‘g’ e & AT T
1) = 2) TEN (3) SR (4) VoIS AERS

The Kut portion of tribal house is meant for ..
(1) Food grains (2) Guests (3) Cattle (4) Fuel wood

65.

R T S Wiedi= 3Tee) o 8 2

(1) < Mhem. s 2) < T R

(3) i quEH | 4) UEW O 8%
Who was the Chairman of the Indian Constituent Assembly ?

(1) Dr. B.R. Ambedkar (2) Dr. Rajendra Prasad
(3) Dr. Radhakrishnan (4) Pandit Jawaharlal Nehru

66.

HRATT T Hed ST skt ferdt et 3R ?

(1) 440 we™ (2) 446 FHH (3) 450 ®EH - (4) 447 HH
How many articles are there in the Constitution of India today ? |

(1) 440 articles (2) 446 articles (3) 450 articles (4) 447 articles

67.

ot feehmlt T SER WA dre T A ofien STERAm (1858) a=[d qra@fore ?
(1) HAR 2 f& (3) Ferhdl (4) IR

At which place a Durbar was held and Lord Canning read out the ‘Queen’s
Proclamation” ? (1858)

(1) Kanpur (2) Delhi (3) Calcutta (4) Allahabad

68.

In the figure, G is the centroid of A ABC. CG=5 cm, then CP=

A
P R
G
B 3 C
(1) 6cm (2) 6.5 cm (3) 7cm (4) 75cm

)

<

HEAT HITETS ST / SPACE FOR ROUGH WORK
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The product of two consecutive positive odd numbers is 255. Then the numbers
are

1 -17, -15 2 15,17 @3) 15, -17 (4) None of these

70, ar Yo el WraTEEE T el g ?
(1) 1840 - (2) 1852 (3) 1872 (4) 1883
The Bombay Natural History Society Foundation was laid in the year
(1) 1840 (2) 1852 (3) 1872 (4) 1883
71. The value of
cos 45° cos 60° — sin 45° sin 60° is ?
) J3-1 - ) J3+1 3 1-43 . 1+43
0 SR @ i @) A @ S5
72, ALY TIENAIA & TEHAEY hedAl 3w = SRS T e
K.
(1) T98 9 I (2) IIHA
(B) T I W @) T e
Balance of payment is a comprehensive term which includes both items.
(1) Direct and Indirect - (2) Goods and Services
(3) Visible and Invisible (4) Domestic and Foreign
73. Ufv9w ¥R 9 4@ we Y THA 3T 3Rl
1) fafd (2) owE (3) HmY= @) fau

Western Ghat and Eastern Ghat are joined by the

(1) Nilgiri (2) Aravallis (3) Satpuras (4) Vindhyas

P.T.O.
ool HIIETS SIRT / SPACE FOR ROUGH WORK '
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Area traced out by a minute hand of length 14 cms. of a clock in 5 minutes is

-

(1) 5133 cm? (2) 50.33 cm? (3) 51.33 cm? (4) None of these

75.

Find the percentage increase in the sensex in the month of May over month of February,
from the bar graph given below, regarding sensex from January to May in the year 2003.

Y, scale: 1 cm = 1000 on y - axis |
7000 | 6200
6000
§ 5000
\2]
§ 4000
%2
3000 .
2000
1000
0 B = = > x
5 § ¥ B &
3 E E <
= o
8] v
- <3
(1) 77.14 (2) 107.25 (3) 87.24 (4) 97.14

76. @mﬁﬁmmmwmﬁmwﬁmum@m?

(1) Tel-THS guren - 1909

2) WTG-ArERS-GURON - 1919

(3) YR |IHR HE - 1935

(@) 3feT wRfucw e - 1861

Which one of the following had the greatest impact on the post-Independence
Constitutional structure ?

(1) Morley - Minto Reforms - 1909

(2) Montegue - Chelmsford Reforms - 1919

(3) Government of India Act - 1935

(4) Indian Councils Act - 1861

)

HTHT HIHES ST / SPACE FOR ROUGH WORK
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The value of

23.54%23.54 X 23.54 — 13.23 X 13.23 X 13.23
2354 X 23.54 + 23.54 X 13.23 + (13.23)?

is equal to :

(1) 10.54 (20 10.31 (3) 13.67 (4) 36.67
78. WIRA el TORNY SITell AR ?

(1) 15 3T 1947 (2) 26 TR 1949

(3) 26 IHEd 1950 (4) 24 STHRPR 1945

When did India become Republic ?

(1) 15t August 1947 (2) 26th November 1949

(3) 26t January 1950 (4) 24th October 1945

79.

iR T HEidtel TRvT ARTiden! fohdt s feriars! Teiia Savara sTedn 3Ted ?

(1) 4) TSt Ui AT

Wi

(2) ®)

N
W=

What is the reservation of seats for women out of total seats in the local self government
institutions ?

(1) —é— @ 2 G) 3 (4) None of the above

80.

Arithmetic - logic unit (ALU) is used :

(1) for storage of memory.

(2) to perform all arithmétic and logical operations.

3) to control the transfer of data and information between various units.

(4) none of the above.

P.T.O.

HEAT HWHIS! 9T / SPACE FOR ROUGH WORK
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g et e e siiked gF Fal

(1) T Sefem ,, 2) g

(3) sfHstET (4) HRI AR fEm

The agitation for the creation of ‘Punjabi Subha’ was launched by
(1) Giani Zail Singh (2) Bhindranwale

(3) Amrik Singh (4) Master Tara Singh

82.

2001 1 FeiT= FCTORAER YRAT= TRUT & He Tt i ?

(1) 84.6 & (2) 1012 &R

(G) 1027 HA 4) 109.0 =

How was the total population of India in 2001 as per Census of that year ?
(1) 84.6 crores ~ (2) 101.2 crores

(3) 102.7 crores 4) 109.0 crores

83.

What quantity of a sheet of iron is required to make a cylindrical tunnel 2 meter in diameter
and 40 meter long ?

(1) 1507 m?2 (2) 160m m? (3) 407 m? (4) 80w m?

84

I faumayn frasumia Teitads! HivrEr Y& SgEe RN fHesren ?
(1) TARER 9" (2) S U
@) sugd. v 4) F9

Which of the following party got majority of the seats in the Uttar Pradesh Legislative
Assembly Elections ?

(1) Samajwadi Party (2) B.J.P. Party
(3) BS.P. Party (4) The Congress Party

n

T HIHEE ST / SPACE FOR ROUGH WORK
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cosec(90°-A) X _
sin(90°—A)  tan(90°—A)
then x= ?
(1) tan A (2) cotA (3) sinA (4) cosec A
86. The symbol used in flow charts for input/output data or information from/to any device,
i.e. to indicate the operation or reading and writing is :
—_—
o O ® |
o J- o /7
87. ST HAURE TR Fheidt 391a o & Siomed fauedr 3% iehd, € Hoia: &d 3R ?
1) oeRES @ fHm (3) SRR @) WA
Ethanol prepared from molasses and that can be mixed in petrol is basically what ?
(1) Aldehyde. (2) Ketone (3) Alcohol (4) Phenol
88. Let A={1,2,5,7, 8}. The number of subsets of set A is :
(1 4 (2) 8 3 32 ‘ 4) 16
89. IR WA Gei=al FaeuHiame! TagRusi IREAT HERIP vl FHId ?

1) T (2) T smEmr
@) T frasum smwm 4) o gfafet
Who delimits wards for election purposes in local bodies in Maharashtra ?

(1) Governor (2) Election Commission

(3) State Election Commission (4) People’s representatives

P.T.O.
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The area of a square, when half of it's diagonal is of length 6 cm is

(1) 36 cm? (2) 72 cm? (3) 64 cm? (4) 75 cm?

91.

In A ABC, A-P-Band A-Q~-C. If AP=2, AQ=3, PB=6, QC=9, PQ=4 then
BC= ?. ' '

1 12 @) 16 @) 18 4) 15

92.

If Rs. 80,000 amounts to Rs. 1,06,480 in three years compounded annually, then rate of
interest per annum is :

1) 10% @) 11% @) 9% @) 12%

93.

If the equation x2—2(c+1) x+c2=0 has only one root then the value of c is

1 1
® 3 1

1 1
@) ®) -3 @ -3

94.

If income of A, B, C are in proportion 3 : 4 : 5 and monthly income of A is Rs. 6,000, then
monthly income of B is .

(1) Rs. 8,000 (2) Rs. 9,000 3) Rs. 10,000 (4) Rs. 12,000

95.

Solve the following two equations for x and y.

43

x+2  y+1 ’

6 _ 6 _ _

x+2  y+1

1) x=-o,y=r 2) x=-4,y=2
() z’y 3 () X= P Y=
B) x=-2, y=3 4) =x=4, y=-2

A

oy
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96. Which of the following is not an Operating System ?
(1) Microsoft Windows (2) TCP/IP
(3) Unix/BSD (4) Mac

97. The length, breadth and height of a rectangular parallelopiped are in the ratio 5: 4 : 2. If
the total surface area is 1216 cm?, find its dimensions.

1 Length = 10 cms. breadth = 8 cms. height = 4 cms.

20 cms. height = 8 cms.
3

Length = 20 cms. breadth = 16 cms. height = 8 cms.

4

(1)
(2) Length = 16 cms. breadth
(3)
(4) None of these

98. ' In A RST £5=90°, £T=30°, RT=12 cms. then length of sides RS and ST are
(1) 6 cms. and 12 cms. (2) 12 cms. and 6 cms.

(3) 643 cms. and 6 cms. (4) 6cms. and 6,/3 cms.

99. T 1976 <A1 TP HT AR RIERINTIR R0 Hehed T STRAIT A0 STl 2
(1) T ) frre
(3) WSRO 4) @ faeus b3

According to the recommendations of National Agricultural Commission which
programme was initiated in year 1976 :

A

(1) Farm Forestry (2) Extension Forestry
(3) Social Forestry (4) Wind Breaks
100. If 7 tan 6 =24 then sec 8= ?
24 25 24 7
m 3 @ 7 6 % @ 5

P.T.O.
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If A={x :xis a multiple of 3} and B= {x : x is a multiple of 5} then A(}Bis:

101.
(1) ({3,.6,9 12,15 __ _} (2) {5 10,15,20,25 _ }
(3) (15,30, 45,60, __} (4) null set )
102. __ ® TS Aisvar A o,
1 (2) ST @) faz (4) T
is a unit for measurement of radiation.
(1) Red (2) Alpha (3): Beta (4) Gamma
103. If log 3=0.4771 then number of digits in 340 is :
(1) 20 2 21 3 22 4) 23
104. Nikhil can cover a certain distance in 6 hours by covering (%) th of the distance at 5 km/hr.
and the rest at 4 km/hr. Find total distance : ‘
(1) 20 km (2) 25km (3) 18 km 4) 30 km
105. Stafting from Anil’s house, Peter first goes 50 m. to South, then 75 m. to West, then 62 m.
to North and finally 40 m. to east and reaches Salim’s house. Then direct distance between
Anil’s house and Salim’s house is
(1) 35m. (2) 50 m. (3) 62m. 4) 37 m
106. & Hyawul Frdmed A TS A,
(1)  AierdrsH 2) BRENH
() FETEHNFEES (4) FEISA
In photosynthesis gas is required.
1) Oy 2 H,
(3) CO, 4) N,

ST HMEIES AT / SPACE FOR ROUGH WORK
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107. In a transaction of Rs. 10,000/-, an agent gets commission at the rate of 5% on Rs. 7,000

27

and at the rate of 7% on Rs. 3,000. He receives total commission of Rs.

(1) 500 (2) 540 (3) 560 (4) 600
108. WRAKA THO seidl e fadt ?
(1) 247 (2) 204 (3)y 43 (4)y 243
How many total number of Islands in India ?
(1) 247 (2) 204 3 43 (4) 243
109. TERTY TR STEAr Hedmor WA IRl a8 ST v 3Tl ?
(1) 1972 (2) 1983 (3) 1962 (4) 1978
Directorate of Tribal Welfare of Maharashtra State was established in which year ?
(1) 1972 (2) 1983 (3) 1962 4) 1978
110. A hypotenuse of an isosceles right angled triangle is g,/2 cms. Then it’'s area
is
(1) 32 cm? (2) 32 cmd (3) 32w cm? (4) 16 cm?2
111. T YeHa: 2003 |ieh geaafdd #X (VAT) SR w0 ST,
1) = (2) WENE
(3) @ @) TENE
was the first State to introduce VAT in 2003.
(1) Punjab (2) Maharashtra
(3) Haryana (4) Gujrat
112,

If 5A, 13A are acute angles and tan 13A =cot 5A, then A=
(1) 13° (2 b5° (3) o0° 4) 18°

PT.O. ---
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113. SA=AT HEH TOR AYfaa e daforr g e feadaunes @ie I
VISUIYTA = FaRian Sremears oTR.
(1) 46 2 1 3y 20 4) 15
Under Article of the Constitution of India, Scheduled Tribes are safeguarded
from exploitation and provided with educational and monitary benefits.
(1) 46 @2 1 (3) 20 4) 15

114. Read the following algorithm :

1.  Read numbers 2 and b.

2. Ifa<=b then write “The smaller number is ‘a’
else write “The smaller number is ‘b’

This algorithm is for determining :

(1) Bigger of the two numbers.

(2) Smaller of the two numbers.

(3) Arranging the two numbers in ascending order.

(4) Arranging the two numbers in descending order.

115. THIGHAT T 10T SRR HUNT Heiferd 378 ?
(1) 10-6 7T (2) 10-9H=R (3) 10-124fx 4) 10~z
Nanotechnology deals with which particle size ?
(1) 10~ meter (2)  107% meter (3) 10712 meter (4) 10715 meter
116. STONSTON=N FIBM RN FHrHIS Tl H@Od qTEad Il ?

(1) THad (2) wEHE (3) % =fed 4) 2ed
For how long can the term of Lok Sabha be extendend during Emergency ?

(1) One year (2) Six months (3) Nine months (4) Two years

A Y

HoAT WIS SR / SPACE FOR ROUGH WORK
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117. S 252 (1) HOHMER =1 S G0 HEaT Shivl el A ST ?

1) 1972 @) 1927 (3) 1980 4) 1897

Under the Article 252 (1) of Constitution Wildlife Protection Act was implemented in
which year ;

1) 1972 Q) 1927 3) 1980 4) 1897

118. The factors of x> —2x2—x+2 are :
(1) (x+2) (x+1) (x—1) (2) x—2) (x+1)(x—1)
3) (x—2) x+2) (x—-1) 4) (x—2) (x+2) (x+1)
i ]
119. IMTERIA AIHE Wiqas! arevarel wREdl fhadt 318 ?
1) 01 4. (2) 0.05 €4
@) 005d1Ed @) 005 d 001 €3,
The global temperature is increasing every year at an average of :
(1) 0.1°C (2) 0.05°C
(3) 0.05 to 1°C (4) 0.05 to 0.01°C
x—3 ’
120. If x =7+24/10, then N —
1) 542 2 2 G 242 4) 32
121. If the circumference of a circle is 20w cm and the area of a sector of the circle is 70 cm?

then the length of corresponding arc = ?

(1) 14 cm (2) 3.5cm (3 7cm (4) None of these
' P.T.O..

HAT SR 9 / SPACE FOR ROUGH WORK
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122. QRIS HI J& TR Sies@en S ?

1) I (2) e (3) EHE (4) W=

Which of the following is known as biofuel tree ?

(1) Bakul (2) Chandan (3) Jatropha (4) Babul
123. €A SI YUIcHde T 3Te.

1) Frdmme/dwg 2) Ay A

() framm. ddrier/ g (4) Wnie/d%g

The SI unit of momentum is

(1)  kilogram.meter/second (2) gram.centimeter/second

(3) kilogram.centimeter/second (4) gram.meter/second

124.

g':;:iﬁ.uﬁmzo&owﬁtwﬁmﬁs&mmwuﬁzow%m@wﬁaﬁaﬁmm@
I ?

(1) agfam (2) = ifew (3) < efrEm (4) swiE

In which of the following country the 20-20 over ICC Cricket World Cup 2007, Matches
were held :

(1) Australia (2) West Indies (3) South Africa (4) England

125.

A farmer wants to fence a rectangular farm of sides 40 m and 25 m. Also fence a well of
diameter 7 m inside the farm. What is the total cost, if the rate of fencing is Rs. 60 per

meter ? (Take = 372‘]

(1) Rs. 10,000 (2) Rs. 7,800 (3) Rs. 9,000 (4) Rs. 9,120

U

FHoAT HIATHIS! SN / SPACE FOR ROUGH WORK
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31
ST Wieiayeh! Heme s (Feie) BOE TR FHLd 6 ?
(1) H,0 #f D,0 () F o
@) dfsa geverd - (4) wefrm
Which of the following is not used as coolant in atomic reactor ?

() H,0Oand D,O (2) Liquid metals

>(3) Organic liquids (4) Cadmium

127.

RAM YT TAERT 3R,
(1) FETEE (2) dTcgE (@) TEE (4) BH
RAM is a kind of storage device.

(1) permanent - (2) temporary (3) expansion (4) smart

128.

e T W | U,

(1) (2) fegtt (3) fomn (4) W
The is the head of the Santhal Village.

(1) Majhi (2) Dihuri (3) Sisa 4) Migglato

129.

If x*=y, yb=z and z¢=x, then the value of abc is :

xXyz

1 0 - 2) 1 (3) xyz 4) Tz

130.

WITeTdeR! v Tt STHT GeRoneh Ssfua oTe.

(1) TIREEN (2) idaren

(3) REE : 4) =g

Out of following which committee is related to banking reforms ?
(1) Gorwala (2) Dantwala

(3) Narasimhan (4) Vanchu

P.T.O.
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YR TETEEASAT <RIV FeHTad TR TP TS S hell TR ?
(1) e %A : 50 (2) e HHS ¢ 51
(3) M HHIH : 52 (4) e FHHS : 53

Which article from the Constitution of India makes a provision for the post of the President
of India ?
(1) Article No. 50 (2) Article No. 51

(3) Article No. 52 (4) Article No. 53

132.

Yoaiie Aema i FHeAE TH= <vaa ST
(1 1= 2 2= 3 3= 4) 5=
Five Year Plan given priority to remove poverty.

o = 2 1 (3) mmrd (4) Vvt

133.

T TR e TR ST e S A s
(1) TS SAoieToR (2)- T IAORETORt

3) s - (4) oA Yat hiowde

Which of the following Emergency has not been declared so far in India ?

(1) National Emergency (2)‘ " State Emergency

(3)=. Financial Emergency (4) None of the above

134.

The total surface area of a cube is 294 cm2. Volume of cube is ?

(1) 686 cm? (2) 534 cm3 (3) 49 cm3 (4) 343 cm3

135.

Simplification of
cos* 8 — sin* 0 is ?

(1) 1-2sin?8 (2) 1+ 2sin?8 (3) 1-2cos?6 (4 1+ 2cos?6

)
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136. If log;p5=x, then 10810 =5 | is equal to :

1 1-x @ x-1 @) -x @) —(x+1)

137, e HIEHYURT 954’ RV GE el 2

(1) @IS e 2 T |
@) e Joreh 4) ¢ SR

“Who introduced the ‘permanent settlement’ in Bengal ?

(1) Lord Cornwallis (2) Lord Hastings

(3) Lord Wellesley ' (4) Lord Dalhousie

138. Ramesh fills a cylindrical bucket with sand whose height is 32 cm and radius 18 cm. He
then pours all the sand on the ground and makes a conical heap of height 24 cm. What is
the radius of the heap ?

(1) 6cm (2) 36 cm (3) 25cm (4) None of these

139. Grelt feeiean snfeard ST S 1d € hied FeRdi= Fooriiet 3R ?
(1) 9RHt (2) & (3) HIM (4) ¥ig

Which of the following tribal community have exogamous clans of Koli Mahadevas ?

(1) Pardhi (2) Rawal" (3) Katara (4) Mandu
.
140. fyem Sma Adie IRERRR e SR, |
(1) () ¥HFE () YA (4) ieREt

is Biospere Reserve in West Bengal.

(1) Kanha (2) Manas (3) Sunderbans (4) Nandadevi
P.T.O.
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Find the value of k is the polynomials 2x3 +kx? +3x —5 and x3 + x? — 4x — k leave the same
remainder when divided by x+1 :

NN

7
(1) 2 -5 G -7 4 7

142.

ETeiieTen! HIvRAT SIMHLY Aegar 2007 e ' TF qoieon’ Sife Fell B ?
(1) s (2) e (3) UM (4) <feror anfment

In which of the following country, the National Emergency was proclaimed in the month
of November 2007 :

(1) Nepal (2) Sri Lanka (3) Pakistan (4) South Africa

143.

1 oo (frm)=_ wmew.

(1) 1048 SEH (2) 1000 9EH (3) 100 "TEH (4) 1024 9R<H
1 kilobyte (kB) = bytes.

(1) 1048 bytes (2) 1000 bytes (3) 100 bytes (4) 1024 bytes
144. If 7(+3) = (49)3x—4), then the value of x is :

m @ = ® 5 @ =
145. STfEm AT YR 2T 3 HellHd IR

(1) 7= eameh (2) omfeH

(3) srgefe S (4) fifm

By Constitution of India, tribals are called as :

(1) Aborgines (2) Adim

(3) Scheduled Tribe (4) Girijan

A}

el HIHTETS! ST / SPACE FOR ROUGH WORK



ANT

35
146. IR Aie=T=a1 feedl ABASIM, IV TG IS hedl S 2
(1) = e @ = fa
(3) I Wt (4) Tt feaw
In first week of October every year, which Week is celebrated ?
(1) Tiger Census . (2) Forest Day
(3) Wildlife Week (4) Environment Day
147. 1f log;32=0.3010 and log,,7 =0.8451, then the value of log;(22.4) is : ;
(1) 1.1601 (2) 1.2601 (3)y 1.3501 (4) 2.2601
148. Three circles with centres A, B and C touch each other externally. The sum of the three
radii is 9 cm. If AB=5 cm, BC=7 c¢cm then AC = ?
(1) 3cm (2) 4cm (3) 6cm 4) 2cm
149. FEAT HISBTAA HITUR € TGN FEA -
1) fefsea sma () ST e
(3) wEfye emRd (4) SIS FIURE AT
Present day computers are mostly :
(1) Digital (2) Analog
(3) Hybrid (4) None of the above
150. O AMRT is a parallelogram. ZM=60°, seg AP L side MR and M—P~R. If AM=3§, then
AP= ?
1) 4 2) 6 G) 42 4 443
151. If 16 men can do a piece of work in 30 days, then 24 men can do it in days.

1) 10 @ 20 @) 30 4) 40

P.T.O.
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1
152. The simple interest on a certain sum of money for 35 years at 15% per annum is
1
Rs. 12,000 less than the simple interest on the same amount of money for 45 years at
12% per annum. Find the sum of money ?
(1) Rs. 95,000 (2) Rs. 1,20,000 (3) Rs. 75,000 (4) Rs. 8,00,000
153, WRAIY YauMT= FEAvRETel v TRA e A0 i Hid ?
(1) dtstem (2) I,
() SRTLTH ' (4) IR HIOEAET A
Which one of the Intelligence Agencies of India functions under the control of the Prime
Minister of India ?
(1) CBL (2) LB.
(3) RAW. (4) None of the above
154. cosec (90°—8) X cot (90°—86) X sin (90°—8) = ?
(1) cot® (2) sec# (3) cosec ® (4) tan®
155. cot 10° - cot 25° - cot 65° - cot 80° = ?
(1) cot 35° (2) cot 55° 3 1 (4) None of these
156. In A ABC, seg AM is a median and AM=9. If AB2+AC?=290 then BC= ?
(1) 18 (2) 16 (3 20 4) 14
157. SR TRASS 51 9 ST THed T 3R,
(1) o (2) TBRE (3) fw&r (4) . qf=Ew S
The Central Crocodile Breeding and Management Project is located in State.
(1) Orissa (2) Maharashtra (3) Bihar (4) West Bengal

£y

oAl HWME ST / SPACE FOR ROUGH WORK
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37
Rl fasm Snfor SR W afRons o SSTeR HE THIO STeesd! 2
(1) STt (2) o nftn e
(3) S 3T STEehTeT WEEA @) <Ea sufor femseRh deaeta I

In which field the effect of science and technology development in India is less observed ?
(1) Atomic Energy (2) Computer and Information Technology

(3) Satelite and Space Science (4) Diseases related to poverty and gender bias |

159,

MfEaTEt Siera F2o TgEdt HEd WewaT T STHAC Sesh HIowI ?

(1) (2) fwm

(¢ FTATTE (@) I A ey

In tribal family life the prime importance is given to which component ?

(1) Mother (2) Father

(3) Family head (4) Family and relationship

160.

1975 Qe Eieftere Hoen J@r Foaie Yo TR wUETs) T ST
Hel ? -

(1) e fogdlt s 4 (2) TR NeE
(3) gt ikt (4) B

. Which of the following leaders had established a Commission for the study of the Women

Problems in the year 1975 ?
(1) Atal Behari Vajpeyée (2) Jawaharlal Nehru

(3) Indira Gandhi (4) Rajiv Gandhi
P.T.O.
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HERIgAIA STfeardiAed Fa IgUl S,

(1) fogEars . (2)  HIgETR

@) fav 4) TR

In Maharashtra the tribals are found living in system.
(1) Patriarchal (2) Matriarchal

(3) Divided (4) Other

ANT

162. TR (LASER) § H= Wiy« €9 3T ?

1) e ffewm am fegpiee sfem s Yewmra
2) L SehirhyH S WEmeE 3HvE St ewrw

(
(
() e TelftrRye 9 fenmee s aite Yewwrd
(

(@) e JffevH Ir A s o ewer

LLASER is short form of what ?

(1) Light Addition by Stimulated Emission of Radiations
2) Light Amplification by Simultaneous Emission of Radiations

(
(3) Light Amplification by Stimulated Emission of Radiations
(4) Light Addition by Simultaneous Emission of Radiations

163. If the volume of a sphere is 36w cm? then the surface area of the sphere = ?

(1) 12w cm? () 18w cm? (3) 24w cm? | (4) 36w cm?
164. TRYSEM <t Y&am™ el Hel.

1) 15 = 1979 (2) 2 SRR 1979

(3) 26 AR 1978 | (4) 15 A= 1978

In which year TRYSEM started ?

(1) 15% August 1979 (2) 2nd October, 1979

(3) 26 January 1978 (4) 15t August 1978

)
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A=A HEeH ATAR ThehEl & Toared faumayit Siggfed wndl @ sHiadt @
TS S ST ST,
(1) 330 9 332 (2) 340 9 341 (3) 3389339 (4) 3459 346
Under Article , the Scheduled Castes and Tribes are given eserved seats for

Parliament and State Assembly.

(1) 330 and 332 (2) 340 and 341 (3) 338 and 339 (4) 345 and 346
(*

166. 1 megabyte is equivalent to k bytes. :
(1) 512 (2) 1024 (3) 2048 (4) Noneof these
167. G FaX 0111 < TIEE GG fehwd 3.
n 7 2 3 3 8 4 2
The value of binary number 0111 in decimal system is :
@ 7 2 3 , 3 8 (4) 2
168. These are two cones. The curved surface area of one is twice than the other. The slant
height of the later is twice that of the former. Then what is the ratio of their radii ?
1 1:4 2) 4:1 3 2:1 4 1:2
169. Value of
17%X7+11-10x20+4+7x16+8=
(1) 190 (2) 200 3) 210 4) 180
170. 44 SNMH®R 9RG- aﬁﬁaﬁawq@mmwaﬁm&ﬁaﬁaﬁaﬁWW/mF@%—m

IR G el ?

(1) -y onfEs ) fafrea-fde se

@) W I (4) SRt Do T

After 44 years, in the advancement of friendly relations and trade between India - China
they decided, which of the following Road or Passway to be reopened :

(1) Nathu-la Pass (2) Sikkim - Tibet Link Road

(3) Ladakh Road (4) None of the above

P.T.O.
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T 91T BTG Wt 7T AT 1950-51 HEAl 50.2% Bl @ et B 2006-07 Wedd

el AL
1) 18% 2) 18.4% @) 18.5% 4) 21.3%

The share of agriculture sector has gone down from 50.2% in GDP in 1950-51 to
in 2006-07.

(1) 18% 2) 18.4% 3) 18.5% @) 21.3%

172.

TENIEKIS! Y42 TIaE] ST d SIe70 o791 9rg @ 64 fHael.

(1) s, Todiges, R, fererea.

) ooy, Todige, e, s,

@) Towery, €, Tomdige, S

@) fuel, orieiell, foery, wToradiges.

Choose the correct sequence of tourist places in Maharashtra from North to South.
(1) Amboli, Ganpatipule, Shirdi, Chikhaldara

(2) Chikhaldara, Ganpatipule, Shirdi, Amboli

(3) Chikhaldara, Shirdi, Ganpatipule, Amboli
(4) Shirdi, Amboli, Chikhaldara, Ganapatipule

173.

In the adjoining figure, the minimum information necessary to prove that A AOB=A POQ
so that SAS test of congruence can be applied is :

Q
o
B

P

(1) Side OA = Side OP, Side OB = Side OQ
(2) Side AB = Side QP, Side OB = Side OQ
(3) Side OA = Side OP, £B = £Q Side AB = Side QP

(4) None of the above

n
11

)
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174. Algebraic sum of deviation of each observation from A.M. is :
(1) 0 (2) AM.
(3) Number of observations (4) None of these
175. 9RATE ToEeTs Reqsi T oA,
(1) . T6E TR () . & IR e
(3) SERET Het (4) T wEIGL WA
The Architect of the Indian Constitution is
(1) Dr. Rajendra Prasad (2) Dr. BR. Ambedkar
(3) Jawaharlal Nehru " (4) Lal Bahadur Shashtri
176. The ratio of the total surface area of a right circular cylinder to its curved surface area is
5:3. If the sum of the radius and the height is 15 cm then the height = _ ?
1) 15cm ) %cm @) 6cm (4) 9cm
177. TEE TS IM ¢ HERIERIA fSegma .
(1) e (2) FR (3) T (4) STt
Tadoba National Park is located in district of Maharashtra.
(1) Bhandara (2) Chandrapur (3) Nagpur (4) Amaravati
178. The value of J:—ZZ% is .
(1) cosec A + cot A (2) cosec A — cot A
(3) cot A — cosec A (4) cosec A-cotA

P.T.O.
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179. THAS THRRITER FAHFIA STEIYIAT TE THIOAT I 3R,
(1) 15 2) 16 3) 17 4) 18
As per the right to equality article _________ provides for the elimination of
untouchability.
(1) 15 (2 16 3 17 - (4) 18
180. Sirnplificati ¢ sin A 1+cos A )
. Simplification of T ==+ ———— is .
(1) 2sec A (2) 2tan A (3) 2 cosec A (4) —2cosec A
181. The median of the first eleven prime numbers (natural numbers) is :
(1) 13 2y 11 3y 17 4) 12
182, & STERU RCISARUCEICH
M) No, - (@ SO, () Co, @ o,
Forest influences global balance in the atmosphere.
(1) No, . @ so, (3) co, 4 0
183. Sum of two integers is 38. If the greater integer is divided by the smaller integer, then the
quotient is 4 and the remainder is 3. Find the smaller integer.
1 8 2 4 @) 5 4 7
184. Simplification of (x2—x—4)— (5-2x—x%)=
(1) 2x2+x-9 (2) 2x2-3x-9 B) x-9 @) 2x2-9
185. The area of a sector of a circle of radius 6 is 45 cm? Hence the length of the arc is .

1) 12cm (2) 15 cm (3) 90 cm (4) 30 cm

A

THeAT HIWMEES W / SPACE FOR ROUGH WORK



ANT

186.

43
Wi VT TS WRarTsd e ?
(1) siet "= (2) TRl HR
() WREE (4) s HRE

Which of the following is not a Ghat of Sahyadri ?

(1) Amboli ghat (2) Haldi ghat
(3) Bhor ghat (4) Amba ghat
187. ST Teedl WM IOy qroft e .
(1) = (2) FuEmgw "
(3) foafean (4) o §&

The rise of water to different parts of a tree from roots is due to

(1) Elasticity (2) Capillarity
(3) Viscosity (4) Alof thé above
188. 12 =1 faq SAENT=R <9 i HEYdERtt Aol
(1) eSS (2) &S Sl
(3) 3, draran (4) =L 9. IR

12th Finance Commission was constituted under the chairmanship of
(1) Mr. N.G. Jain (2) Mr. ].C Jettly

(3) Mr. T.N. Srivastava (4) Dr. C. Rangarajan

P.T.O.
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189. 31 TATEOT=A F3TAT IR 3Teesdl ?
1) i @ wEm
(3) HEERIR (4) TR
Ozone is present in which region of atmosphere :
(1) Troposphere (2) Stratosphere
(3 Mesosphere (4) Thermosphere
190. MEWIPE ___ ¥ S SHE e FHI e,
(1) e () Ffem (@) e (4) FRF
In Maharashtra is the largest Tribal Community.
(1) Khond (2) Muriya (3) Gond (4) Korku

191. Calculate arithmetic mean for the following frequency distribution :

observations (x ) 101 110 112 118 95

frequency (f) 4 6 10 12 3

1y 112 @) 109 @) 110 @) 111

192. T[S UEE T (GNP) TS &I ?
1) =< e S+ Frafa — s
2) =¥« o e - i + s
'(3) =freae g S + R et SeareA
4) =gd N IR - e Tg I

What is GNP ?

(1) =GDP+X~-M
(2) =GDP-X+M
(3) =NNP+GDP
(4) =GDP-NNP

HSAT HIWEE! ST / SPACE FOR ROUGH WORK
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193. In the new budget, the price of petrol increased by 20%. By how much percent must a
person reduce his consumption so that his expenditure on it does not increase ?

2 1
1) 15 2) 18 (3) 163 (4 163

194. Two concentric circles with centre at O and of 5 cms. and 10 cms. radii are drawn. A
straight line OX drawn through their centres cuts the circles in A and A'. This line is
rotated through an angle of 60° and in it’s final position cuts the circles in B and B'. Find
the perimeter and the area of the portion between circles and the lines.

251

(1) Perimeter = 5 cms. Surface area = (10+51r) cm?

25w
- 2
> cm

(2) perimeter = (10+57) cms. Area

(3) Perimeter = 20 cms. Area = 1257 cm?

(4) None of these

195. 71 15T UGHYT oKl HIUATE A1 hHIvTe |ielt & HIAR STt ?
1) 1985 2) 1990 (3) 1980 4) 1995

Ganga Action Plan was started in which year ?

(1) 1985 (2) 1990 (3) 1980 (4) 1995
196. STIHATE! LROT TG’ A=A EEEHENC IR (3

(1) e (2 fegwom

(3) worfean (4) S

Jayakwadi dam is constructed on tributary of Godavari river.

(1) Indravati (2) Sindphana

(3) Pranhita (4) Wainganga

e FHMAMEE AT / SPACE FOR ROUGH WORK
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197. The total surface area of a right circular cone of radius 5 cm and slant height

toem =1 (= =2)
(1) 400 cm? (2) 80 cm?
(3L 400w cm? (4) 330 cm?
198. 1878 Hel 'SATRIER U9 3’ I ST ST,
(1 <€ fom ) @ faed
(3) e g @) e e

introduced the ‘Vernacular Press Act’ in 1878.

(1) Lord Rippon (2) Lord Lytton
(3) Lord Curzon (4) Lord Mountbatten
199. < I Siaw AN = SO, TAA HgHU Hl4 3.
(1) 10 | | (2) 80
(3) 50 ' 4) 40
Every year about million tonnes of SO, is poisoning the air.
(1 10 (2) 80
3) 50 @) 40

' )
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200. If tan? 45°—cos? 60°=x sin 45° - cos 45° - tan 60°, then the value of x is

1 1 2 — @) — (4)

-00o0-

2
Ne)
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